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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Fill in the blanks: (any seven) 1x7=7
AR IR o[ W ¢ (Rewzant eny)
(a) first termed the word ‘Enzyme’.
U TSR et e
is the process in which matured
Graafian follicle ruptures out from the
ovary.
4 AR T i Rvrem ez o
e |

(b)
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(c)

(@

(e)

(9)

(h)

)

transports blood from heart to
different cells of human body.

TERITS e e ] R[fen
(IR (o IfpaE [

Krebs cycle occurs in
(@G F WA W ______ O

Amylase is an enzyme related to
digestion.

TS TR R TS TGS G |
Deficiency of insulin ‘hormone causes
the disease

Wﬁaﬁwm@mwﬂﬁaﬁ

anticoagulant inhibits coagulatlon
of blood inside blood vessels.

GFOFRINTETS I8 ARPR ote (oF
(oI5 WS A e

The protein part of enzyme is known

as

Terinee Ao QE __ @ITA |

cells of testes secrete
testosterone.

ST (T (BT T T 1) IS |
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0)

(k)

)

Oxygen dissociation curve of
haemoglobin is shaped.

2nerRae S Reiem @@ SRl
9 I

In chloride shift phenomenon ion
diffuses from plasma to RBC.

136 PGS AfFTe WA giemR
%19l RBC & 9ife @1

Thromboplastin is secreted by .

@ IR e ||

Answer in brief : (any four) 2x4=8

e Sl Wat ¢ (Ricerean o151

(@)

(b)

Name two enzymes secreted by the
stomach peptic celis.

ANFTTR (1T I T T 75 OB
qw for |

What is Sertoli cell? Write its one
function.

HIRBE (1Y 2 TR @6t I o
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() Name two hormones secreted by a-cells 3. Write short notes on : (any three) 5x3=15

of islets of Langerhans. 53 (Bt forat ¢ (Rieereant f3fat)

TR o-(IIFCRIE = T 70! TR A (a) Glycolysis

o . s iR
(d) Wh al ? (b) Chloride shift
at is resting potenti '
: FHIRG FAA
3% se® e &2 (¢) Urea cycle
(e} Role of liver in food digestion. T
(d) Menstrual cycle
G AT SHTS TFRY T | —
e) Hormon f :
() Different components of bile salts. (€) functionses of pancreas and their
AT T I W AR R I

forg =R’y RS Toimiv |

() Define cardiac cycle () Role of saliva in food digestion

YR #A57 TS =T i
e @l |
(g) B-oxidation of palmitic acid
(h) What is gluconeogenesis ? Afie el &Kot TR
e TETARR (h) Draw a labelled diagram of structure
of mammalian heart.
TP R T o1owR @ oz B i
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4. Answer any three of the following :10x3=30
o] Riezrear foforg Tes foral ¢

(a) Define gametogenesis. Describe briefly

the process of spermatogenesis with
diagram. 2+8=10

(STTB TR e fordl | ez wemidee
aferar Rawm sote 3 0

() What is Krebs cycle? Discuss its
different steps. 2+8=10

@ b 2 TR Rfeq wirTR Sicesa #411

(¢ What is nephron? Describe the
mechanism of urine formation in

mammals. 2+8=10
i e T iy Ta SeAr i
3t 0|

(d) What are neurotransmitters ? Describe
the initiation and conduction of nerve

impulse. 2+8=10
AETGROR 52 g~ dived o
AfR5eme Racw 3 =
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(e)

(9)

(h)
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Write a short note on mechanism of
enzyme action. Describe briefly
different factors that affect its function.

5+5=10

T FRiEs eoige @b 5y G i
TR e aeife 1 PR 5 39
39

Discuss the process of oxygen and
carbon dioxide transportation in
mammals. S5+5=10

wﬁwﬁamw@mmwm
TFee ~ReE efdrr Raw wiEna 1)

What do you mean by electron
transport chain? Discuss briefly its

different stages. 2+8=10
e~ e e e 2 Rfew
AT HYC SAIEtoa |

What is protein ? Explain in detail the
physiological process of protein

digestion in man. 2+8=10
oifft 52 TR (7S Ao’ A6 IR IR
A 1A
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